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X+ X, = Xg =—2

. For which value(s ) of k does this system {3x,-5x, +13x, =18 have
X, —3X, +5%; =k

one or infinitely many solutions?

. Find all vectors in R® that are orthogonal to the two vectors 1 1 1],

and 1 2 3].

. Find all solutions x,, x,, x, of the equation b =xJV, +x,V, + XV,

-8 1 2 4
where 5| . \71=4,\72=5 and \73=6.
2 7 8 9
15 5 3 1
X+y=C
. Consider the system {3y+z=C where C isa constant. Find the
X+4z=C
smallest positive integer C suchthat x, y and z are all integers.
a b c
. Find the rank of the matrix (0 d e |where a, d and f are
0 0 f

nonzero,and b, ¢ and e are arbitrary numbers.

. Isthe vector [7 8 9] alinear combination of 1 2 3] and

[4 5 6]?

. For which values of the constants b and ¢ isthevector [3 b c] a
linear combinationof 1 3 2], [2 6 4],and [-1 -3 -2].

. Please find the linear transformation matrix T if the linear

. 5 89 6 88 .
transformation T{ }:{ } and T[ }:{ } are given.
42 52 41 53

. For the matrix B:E 12 13]findamatrix A such that BA=1,. How

many solutions A does this problem have?

10.Find A if F Z}AF 6}{1 1]
3 4 7 8 11



